Instrukcja montazu gmoli dla / Crash bars installation instruction for

HONDA YL 125 VARADERO (0142

W sktad zestawu wchodazi:

1. Orurowanie prawe.

. Orurowanie lewe.

. Dwie $ruby M6x30 mm wraz z podktadkami.

. Dwie Sruby M8x20 mm wraz z podktadkami i
nakretkami.

. Dwa uchwyty gérne.

. Szpilka silnikowa 265 mm.

. Dwie podktadki dystansowe 40 mm.

. Sruba M6x40 mm z tulejkg dystansowag 8mm.

The set includes: @

1. Right piping.

. Left piping.

. Two M6 30 mm bolts with washers.

. Two M8 20 mm bolts with washers and nuts.
. Two upper brackets.

. Engine bolt 265 mm.

. 2 spacer sleeves 40 mm.

. Bolt M6x40 mm with spacer sleeve 8 mm.

B~ w N

00N O WU

0O NOUL b WN

M=

www.heed.com.pl

g

Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdci¢ szczegding uwage na wigzki
elektryczne, przewody hamulcowe oraz przewody gumowe chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty
podczas eksploatacji o gmole z powodu Zle przeprowadzonego montazu orurowania.
Catos¢ orurowania zatozy¢ swobodnie dopiero na koricu skreci¢ docelowo.
1. Zdemontowac wypetnienie owiewki (Rys. 1 pkt. 1).
2. Opusci¢ owiewke przednig motocykla (Rys. 2).
3. Zdemontowac z lewej strony srube mocujaca stelaz owiewki i w jej miejsce zamontowac uchwyt mocujgcy orurowanie
wraz z nowg $rubg M6x30 mm z zestawu(Rys.3 pkt. 2).
4. Tg sama czynnos$¢ powtdrzy¢ z prawej strony (Rys. 4 pkt. 3).
UWAGA! W motocyklach, w ktérych do zdemontowanej sruby przykrecony jest z prawej strony przewaod uziemiajacy
nalezy zamiast sSruby M6x30 mm uzy¢ dodatkowej sruby M6x40 mm wraz z tulejkg dystansowg 8mm z zestawu.
5. Zatozy¢ ponownie owiewke (Rys. 5) wraz z wypetnieniem.
6. Zdemontowac oryginalng szpilke silnikowa.
UWAGA! Zwrécic szczegdlng uwage aby nie wypadty oryginalne podktadki dystansowe (Rys. 6 pkt. 4).
7. Zamontowaé w miejsce starej szpilki silnikowej nowa dtuzsza szpilke wraz z podktadkami dystansowymi 40 mm po
obydwdch stronach (Rys. 7 pkt. 5).
8. Zatozy¢ lewe orurowanie na motocykl:
-w dolnej czesci na uprzednio zamontowang juz szpilke (Rys. 8 pkt. 6) i obejme typu,U” (Rys. 8 pkt. 7),
- gbrna czes¢ orurowania zatozy¢ na zamontowany juz uchwyt wykorzystujac sSrube M8x20 mm (Rys. 9 pkt. 8).
9. Tg sama czynnos¢ powtorzy¢ zaktadajac prawe orurowanie.
10. Catos¢ orurowania skreci¢ docelowo .

&)

Piping should be installed only by a qualified person.
Pay particular attention to the electric beams, brake hoses and rubber hoses for engine cooling, so that they are not
pinched or they doesn't chafe during operation due to wrong installation of piping.
During installation it is recommended to set up piping freely.
1. Disassemble the filling of the fairing (Fig.1 pkt. 1).
2. Lower the front fairing of the motorcycle (Fig. 2).
3. From the left side remove the bolt holding the fairing frame. On it's place screw the bracket holding piping using M6x30
mm screw from the set (Fig. 3 pkt. 2).
4. Repeat the same steps on the right side of the motorcycle (Fig. 4 pkt. 3).
WARNING! In motorcycles, in which to the removed bolt is screwed on the right side the ground wire use additional
bolt M6x40 mm with spacer sleeve 8mm from the set instead of the bolt M6x30 mm.
5. Reinstall fairing with filling (Fig. 5).
6. Remove original engine bolt.
WARNING! Pay special attention not to fall out original spacers (Fig. 6 pkt. 4).
7. Install in place of the old engine bolt the new longer engine bolt with 40 mm spacers on both sides (Fig. 7 pkt. 5).
8. Install the left piping on the motorcycle:
- on the lower part on the previously installed engine bolt (Fig. 8 pkt. 6) and U clamp (Fig. 8 pkt. 7)
- on the upper part of the piping on the already installed handle using M8x20 mm bolt (Fig. 9 pkt. 8).
9. Install right piping repeating the same steps.

\10. Tighten all the piping.

\




Instrukcja montazu gmoli dla / Crash bars installation instruction for

HONDA YL 125 VARADERO (0142

M=)

www.heed.com.pl




Instrukcja montazu gmoli dla / Crash bars installation instruction for

HONDA YL 125 VARADERO (0142

M=)

www.heed.com.pl




